

$$\frac{\cos^2 \frac{\alpha}{2} - \sin^2 \frac{\alpha}{2}}{\cos^2 \frac{\alpha}{2}}$$

ثم نستخدم:

$$\frac{\cos^2 \frac{\alpha}{2} + \sin^2 \frac{\alpha}{2}}{\cos^2 \frac{\alpha}{2}}$$

$$\cos u = \frac{1 - \tan^2 \frac{u}{2}}{1 + \tan^2 \frac{u}{2}}$$

$$\boxed{\cos u = \frac{1 - t^2}{1 + t^2}}$$

الآن نستخدم:

التحويل العام لجذر الكسور المثلثية

$$t = \tan \frac{u}{2} \Rightarrow u = 2 \arctan t$$

$$du = \frac{2dt}{1+t^2}$$

$$\sin u = \frac{2t}{1+t^2}$$

$$\cos u = \frac{1-t^2}{1+t^2}$$

$$I = \int \frac{du}{\sin u}$$

أو

$$t = \tan \frac{u}{2}$$

$$I = \int \frac{\frac{2dt}{1+t^2}}{\frac{2t}{1+t^2}}$$

$$= \int \frac{dt}{t} = \ln |t| + C$$

$$= \ln \left| \tan \frac{u}{2} \right| + C$$

الدوال المثلثية:

$$\int f(\sin u, \cos u) du$$

$$t = \tan \frac{u}{2}$$

$$\frac{u}{2} = \arctan t$$

$$u = 2 \arctan t$$

$$du = \frac{2dt}{1+t^2}$$

$$\sin u = 2 \sin \frac{u}{2} \cos \frac{u}{2}$$

$$= \frac{2 \sin \frac{u}{2} \cos \frac{u}{2}}{\sin^2 \frac{u}{2} + \cos^2 \frac{u}{2}}$$

$$= \frac{2 \sin \frac{u}{2} \cos \frac{u}{2}}{\cos^2 \frac{u}{2}}$$

$$\sin u = \frac{2 \frac{\sin \frac{u}{2}}{\cos \frac{u}{2}}}{\frac{\sin^2 \frac{u}{2}}{\cos^2 \frac{u}{2}} + 1}$$

$$\sin u = \frac{2t}{t^2 + 1}$$

$$\cos u = \frac{\cos^2 \frac{u}{2} - \sin^2 \frac{u}{2}}{\cos^2 \frac{u}{2} + \sin^2 \frac{u}{2}}$$

$$I = \int \frac{dn}{\cos n}$$

$$I = \int \left(\tan \frac{n}{2} \right)^2 dn$$

$$t = \tan \frac{n}{2}$$

$$I = \int t^2 \cdot \frac{2dt}{1+t^2}$$

$$I = 2 \int \frac{t^2 dt}{1+t^2} \quad \frac{t}{1+t^2} \frac{t}{t^2+1}$$

$$= 2 \int \left(t + \frac{-t}{1+t^2} \right) dt$$

$$= 2 \left(\frac{t^2}{2} - \frac{1}{2} \ln |1+t^2| + C \right)$$

$$= \frac{\tan^2 \frac{n}{2}}{2} - \ln |1 + \tan^2 \frac{n}{2}| + C$$

$$I = \int \cos^4 n \cdot \sin^3 n \, dn$$

$$= \int \cos^4 n \sin^2 n \sin n \, dn$$

$$= \int \cos^4 n (1 - \cos^2 n) \sin n \, dn$$

$$= \cos n \cdot t$$

$$- \sin n \, dn = dt$$

$$I = - \int t^2 (1 - t^2) dt$$

$$= - \int (t^2 - t^4) dt$$

$$= - \frac{t^3}{3} + \frac{t^5}{5} + C$$

$$= - \frac{\cos^3 n}{3} + \frac{\cos^5 n}{5} + C$$

$$I = \int \cot n^3 \, dn$$

$$\cot n = t$$

$$n = \arccot t$$

$$dn = \frac{-dt}{1+t^2}$$

$$I = - \int t^3 \frac{dt}{1+t^2}$$

$$= 2 \int \frac{(2t-1+t^2)}{(1+t+1+t^2)(1+t^2)} dt$$

$$= 2 \int \frac{t^2-2t-1}{1-t^2} dt$$

$1-t^2$ calculate the partial fraction decomposition

$$= \int \left(1 + \frac{2t-2}{t^2-1} \right) dt$$

Partial fraction

$$= \int \left(1 + \frac{2t}{t^2-1} - 2 \frac{1}{t^2-1} \right) dt$$

$$= t + \ln|1+t^2| - 2 \arctan t + C$$

$$= \tan \frac{\pi}{4} + \ln|1 + \tan^2 \frac{\pi}{4}|$$

$$= 2 \arctan(\tan \frac{\pi}{4}) + C$$

$$2 \arctan \tan \frac{\pi}{4} = 2 \arctan 1 = 2 \cdot \frac{\pi}{4} = \frac{\pi}{2}$$

$$I = \int \frac{\sin^2 u}{\cos^2 u} du$$

$$\sin^2 u = \frac{1 - \cos 2u}{2}$$

$$\cos^2 u = \frac{1 + \cos 2u}{2}$$

$$I = \int \sin^2 u du$$

$$= \int \left(\frac{1 - \cos 2u}{2} \right)^2 du$$

$$= \frac{1}{4} \int (1 - 2 \cos 2u + \cos^2 2u) du$$

$$= \frac{1}{4} \int \left(1 - 2 \cos 2u + \frac{1}{2} + \frac{1}{2} \cos 4u \right) du$$

$$= \frac{1}{4} \left(u - \sin 2u + \frac{1}{2} u + \frac{1}{8} \sin 4u \right) + C$$

$$= \frac{3}{8} u - \frac{1}{4} \sin 2u + \frac{1}{32} \sin 4u + C$$

$$I = \int \frac{\sin u - \cos u}{1 + \cos u} du$$

$$t = \tan \frac{u}{2}$$

$$I = \int \frac{\frac{2t}{1+t^2} - \frac{1-t^2}{1+t^2}}{1 + \frac{1-t^2}{1+t^2}} \cdot \frac{2dt}{1+t^2}$$

$$I = \int \frac{dx}{4 \sin x + \cos x}$$

$$t = \tan \frac{x}{2}$$

$$= \int \frac{\frac{2dt}{1+t^2}}{1 + \frac{2t}{1+t^2} + \frac{1-t^2}{1+t^2}}$$

$$= 2 \int \frac{dt}{1+t^2+2t+1-t^2}$$

$$= 2 \int \frac{dt}{2+2t}$$

$$= \ln |2+2t| + C$$

$$= \ln |2+2 \tan \frac{x}{2}| + C$$

$$I = \int \frac{dx}{2 \sin x - \cos x + 5}$$

$$t = \tan \frac{x}{2}$$

$$I = \int \frac{\frac{2dt}{1+t^2}}{2 \frac{2t}{1+t^2} - \frac{1-t^2}{1+t^2} + 5}$$

$$= \int \frac{2dt}{6t^2+4t+4}$$

$$= \int \frac{dt}{3t^2+2t+2}$$

$$I = \int \frac{\sin x}{\sin x + \cos x} dx$$

$$t = \tan \frac{x}{2}$$

$$I = \int \frac{\frac{2t}{1+t^2} \cdot \frac{2dt}{1+t^2}}{\frac{2t}{1+t^2} + \frac{1-t^2}{1+t^2}}$$

$$= 4 \int \frac{t dt}{(1+t^2)(-t^2+2t+1)}$$

$$= 4 \int \frac{t dt}{(1+t^2)(t^2+1-\sqrt{2})(t+1-\sqrt{2})}$$

$$= \frac{A t + B}{1+t^2} + \frac{C}{t+1+\sqrt{2}} + \frac{D}{t+1-\sqrt{2}}$$

$$= \frac{1}{3} \int \frac{dt}{(t^2 + \frac{2}{3}t + \frac{1}{3}) + \frac{25}{9}}$$

$$= \frac{1}{3} \int \frac{dt}{(t + \frac{1}{3})^2 + \frac{25}{9}}$$

$$= \frac{1}{3\sqrt{5}} \arctan \frac{t + \frac{1}{3}}{\sqrt{\frac{25}{9}}}$$

إعداد الطلبة
مباركة